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JETEST $400,000)7% O F 3 $300
EEOF5 1k $2.400[EF OF& $1,000
BOR $500[ROF53E $500
BROJEL $100|# OFEE $100
OB $20,000[FRO%E $200
s O $50|BR OF $100
FOFk $100[m= O#F $500
FO#H $100[#BOHE $200
s O $50[FEOA $100
w=ORE $50[EEOZ $100
s O $50[# O $500
O $300[ RO &L $100
POZE $1.200[FRO%k $1,000
4 O, $250[£OE $500
EEOM $100[E Of& $200
FORE $1,500[ALOH $100
= O $1.500PTOZEEE $1,000
PREhECE $20,000{EBO%F $500
SOHE $1.200{ZF O $300
#FOSRE $1,200[ O] $100
=ONE $1.200{RKO%% $100
ROSHE $400[ R OHIL $100
BRO $1.200| R OF $100
BHOR $1,200|#k O $100
ZOP $1.200{EOL $100
AROFHEL $1,200)1FO%K $300
FEORH $1.200)#kOF* $100
£O $1,200{#kOE $100
PrOZK $1,200)#kO40 $100
TOREH $1.200{5 O $100
HO=E $1,200)5=O% $100
HOZHE $1,000|FRO4E $100
TOE $1.000|#0O=L $1,200
EO&%H $1,000[FOHE $1,200
HOF $1.200|2£O % $1,250
HOE $1,200)BEEORK $1,250
HOH $1,200{Z£OfZ $1,250
FHOF $1.200[Z£ O $1,250
FH O $1,200( % O, $250
PROAH $1.200[z=0= $1,200
RO H 35 $1,200|2 O $1,000
g O $1,200| EOAHD $500
MOZE $1,200|= O $500
MO=EE $1.200| £OF $250
PO $1,200[ O $250
PO $1.200{ EO*% $250
ZOR. $1,200|6O % $250
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O/ $1,000|tR O $1,000
FOH $1,200[#O ke et $500
BRORESE $2.400[ £ O $100
BO% $1.200|BR O $500
FHOK $1.200{ RO $25
MOER $1,200{AKO%& $25
RO $500[AROZ $25
HOE $1,200) % Ok $25
HOE $1,200) =04 $83
EOTE $1,200|B8OF $83
ZOR, $1.200[F=OF $84
HOZE $1,200 75§ f SR (A TR/ ] $500
HOR: $1,200|F O $200
BROM $1,200|&F O BRI 5 $600
FROH $400[sEO A%k $1,000
PROZ $1.200(#R O $3,000
HOE $1,200) 5 O%#, $500
A O $1.200[z=0O# $500
HOE $1,200) 5O $500
BOFH $600[5O5E $500
BOZE $4.000[2£OF5 $500
FHO $1,200[E Ot #S $500
£20) $1.200 (PR O $1,000
HOB $1,200{ =0+ $150
FOAE $1,200) &= O $400
T O $1.000|8OZ $1,000
TOZE $1,000|21O%#, $1,200
O $1.000)EECOPK $300
FHOZK $1,200) % Osft $600
AoV $1,200)47 O $500
i/ DI $1.200{#kO1E $20,000
R $1,200{#FO1E $20,000
I $1.200{g1O%5 $600
TREAER $1.200{g1OFF $600
A AT $1.200 (PR O $100
BHOFRE $1.200{ZIOF $1,000
sHOFHE $2.400|BR O $150
BOZ= $1.200{EOHE $150
FOR $900[FRO%E $150
FOfE $900[BROZ $150
FO% $900|EO%x $1,000
£ZOR $900[ MO $2,000
w=ORE $6,000] % Ol $1,000
O $1.200[EO $100
BOZE $1.200(t5 O $100
AEOME $1,200{E= O $2,315
EHOES $1.200[FH Ok $1,000




MEEANSETRAIDFEHEENESE

OBEEIRK S
241 i E S X it i L
O $1.200[EEORK $100
AE O $1,200) O $500
AEOFF $1,200) 8 OBH $100
BRO®Z] $1.200|8OE $100
SFOH $25,600| B O1E $100
SO $1,200(Jit O $100
O $600[BROZK $200
TO% $1.200|EOFT $200
AEOLY $1,200|1ZFO=L $200
FR O $1.200[E O $200
BIOH $1.200|1Z Ot $200
HOLE $600|2F O % $100
O $1.200[FR OS5t $100
HOZ $1.,200) kOt $100
g O] $1,200)E 0L $100
= OBt $600|E=ORE $100
RO $600[EROIiG $200
BROBE $600[HOF=2 $500
FO $20,000 /it O 1 $100
BROFT $1,200]1 O=L $100
BROF $600|ZCO=F $100
PRO= $600|58 O $100
EOWM $600| & Ofi $100
EBOTE $600[Z O&L $100
BOH $600[ 4 OF $100
BROBE $600[H=O%% $100
BROE $600[FROFE $100
E O $1,200) 5 O%#, $100
Ok $1,200)5F Off $100
HOFE $1.200[FFOfE $100
FOi $300[21Of $100
FO $300[BROZ $100
FO1E $300[FFOHH $100
HOE $300|ZR O $500
ROF5 $600| =05+ $1,025
BRO& $16,000[EFO% $100
#OH $15,000| O % $100
(VAN SR $30,000[52OE $100
sTOH $600[FROEE $200
O $1.000[FROA= $200
FOt&E $1.000[FROZE $100
207 $500[BRO#E $100
HOHFES $500[#F O $200
BO $1,000|Z OB $100
=0O%B+ $100|210OF5 $500
w= Ol $400 |5 Ok $1,000
EHOES $1,200]ZEBOUH $200
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BROE $1,200|HOH $200
MOE $1.200|HO= $200
HOE $1.200[{EO= $100
FO% $1,000|ZF O $100
RO $1,000| B A i & $6.000
BROLT $600 | O $1,200
HOH $1,000|5EO % $1,500
O $1.200|#O & $1,000
w0 $1,200) B O % $100
RO $1,000) %Ot $600
Z Ok $600 O $1,000
E O3 $50[FROFE $1,000
== O $1.815 RO $200
O3 $600[ZLORE $100
s O $600[EOFE $1,000
O $600|FH OFF $1,000
w=ORK $600[EF OB $600
BHO# $600[ 2O $1,000
21O $600|F O $100
FO $600[ZOR $100
EOEE $600[#ORE $1,000
75 e ZER (i A IRV E] $500[#ORE $1,000
BROZE $100[FE O $100
BROZE $100[O & $200
FOHR $20,000|F= O $200
TOE $200/;E O $200
+O4 $200[FOfa $100
MO $3,000[EFO%= $100
HOZE $3,000|EBOf= $100
RO $100|ZCO5E $100
BRO$ $100[fROL $100
BROME $750[#a O $100
BROE: $100[£8OF $100
BROE: $100[ T OF $100
=0O%F $1.200{ZIOk $200
HEOER $6.000)F Ok $100
o $2,000{ ROk $3.000
O $2,000| 5= OFE $2,000
BROE $750|E O $600
PROT $100|#rO= $4,000
PROT $100[Z= O $1,200
O $100|12F O $1,200
O $100[ZF O $1,200
PRO®E: $100|1FOH $1,200
PRO®E: $100|ZF O $1,200
RO $100[#5 O $6,000
RO $100[FROF* $100
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FO%H $100|5=OH# $100
FO%H $100[FROFE $100
PRORE $100|FRO K $100
PRORE $100| EOH $100
RO $100|PFHOEE $100
RO $100[FFOfZ $100
Q% $100[FFO %4 $100
EFO% $100| PO $100
PO $100[FFO#E $100
PR O $100[FF O $100
EFOE $100[FFOFE $100
FFOE $100[E O $1,000
O, $100[E O $1,000
O, $100[#EFO $200
FFO%E $100[E£COH $1,000
FFO%E $100| T O $600
HOIE $20,000|2107% $500
HOIE $20,000[ZO# $400
PROIE $40,000{FO 1 $100
O $200[ZOHH $1,200
FOF $200| = O $400
FOZE $300[F=O% $600
EON] $300|FRO%E $200
O $1,200(FE O $600
H=OE $300|FO%H $600
O $300[E O $600
FOH $1,200/%=20O $1,100
085 $1,200|#HOE $500
2O $1,200{ FOFE $1,000
PROBKSE $1,000|£0 % $1,000
PROBKSE $1,000[FOF $1,000
PBRORE $1,200|H O $200
PROZ $1,200{EBO fif $1,000
PROZEY $600| PO $5,000
RO $600|tROE $100
PROZ $1,100|tR O $100
PROF & $600[EB Ok $100
PROZE $500|E OMKEER $5,000
O $200[ PO $200
BEO#E $600| 1k E 5 $3,000
SBO% $600|E O 5 $5,000
BEOE $600| T O $600
BHOHE $10,000| T O$# $400
HOE $1.000(t5O % $200
HORE $1,000{=O= $400
=0%+ $400|FROZR $200
=0%+ $3,000[£O% $600
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O $10,000[#RO % $200
FO% $1,200[#OF $200
BOE $600[FHO=E $200
20k $1.200[FHOBE $200
BEOT $1.200|# O $200
BOZE $600[FO% $600
#EO ik $1,200(7E%O F 35 $300
O $600|# OF $1,000
BO= $600[ROF53E $500
B Ok $1,200[FH OFF45 $100
s Ok $600[#FOZE $200
O $1,000[FR O $100
HOE $1,000{E=O#F $500
ROBL $600[ 5O $200
=ROHT $600[#BOHE $200
O $1,000[FEOM $100
B $11,500[FOZ $100
B OR $400[ 4O $500
PHOHE $400[ RO &L $100
=0% T $3,450[FRO%k $1,000
RO $400| EOH $500
£Z0%/% $400[E Of& $200
£ZOH $400[HEOH $100
FOE $400) TOZEHE $1,000
O $400[BBOZF $500
A OFF] $400|FOE $300
OB $400[FEOF(] $100
BOFE $400[ R O%% $100
0= $400[ AR OHIL $100
EO1E $2,000| R OF $100
MHOZ $1.200[R O $100
206G $1.200{EOL $100
RO $1,200)12FO%K $300
fTOBE $400[#ROF* $100
O $1,200|#k O $100
A OHR $400[#k O« $100
FOFE $400| 2O $100
LOfE $1,200)5O% $100
AEOE $500[#FOIX $200
EAOLEES $100|F O%H $100
ZOR $100[FROFAT#E) $1,000
PROIE $100)7FOHE $20,000
fiti OF $100[5OFE $500
BROZR $200 [ O $500
FHOLL $1,200) 8 OBH $100
HOFET $200[ O E $100
HOL $200[ ORI $100
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HO $200[#E Ot $100
HOE $200[=OL $100
RO $1,200{E=ORE $100
RO $1.000);E O $500
BROME $1.000[FEO It $100
BROZE $200[EOL $100
ZF O % $100[s0O= $100
PROSE $100|BO%h $100
POt $100[ & O $100
w3 $100[ 2 OB $100
s O $100[ 2 OF $100
PROEE $200|FEOZ% $100
AEOFEH $500[FROF $100
fiE OTE $100[=O#h $100
fitt O>L $100[ET O $100
LO= $100[ETOfE $100
O $100[#RO $100
g O $100|EFCOEE $100
g O/ $100[# O $100
qOE $100[frOF $1,000
FOZ $100[ZF O $200
BRO®& $100] & O $250
e O $100[EOH $100
s Offi $100[ 2O $100
sTOfZ $100|FE Ot $1,000
2IO& $100[FR O $1,000
BROZ $100|$#O & et $500
MO $100[ EO#H $100
PO $10,000| B E fhECE T $20,000
BROTE $1,000| =05+ $100
AHEOE $200[fT O 4 $500
FEORM $200 [ Ok $500
AEOH $200| 8 EHEUPEFA S A TR E] $8.000
MHO& $600[ = OF% $400
BROBY $6,000| % O $1,200
FOZ $1,000{ % O $1,200
BIOF $600[EO $100
2014 $1.250| £O= $100
BROTK $1,250|BEO % $1,000
£0f& $1,250|=006E $1,000
ZOHE $1.250| s O $1,000
FROAL $600[FROE= $500
BOIlE $1,200|1#O$#, $500
O $1,200|HOf= $3,000
RO $5,000TOZE $3,000
FOXE $100[/FH OG0 $2,315
O $1,000] &= O $400
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MO $100[fE OJE $1,500
CAOES $100|E=O8Y $1,500
BROE $200[ 7R OB $5,000
RO $200[BROLY $600
PROZE $100|FHOH $1,000
BROE $1001{hiO~ $1,000
ROHE $1,200|8O%E $1,000
B Ofiig $1.000|FHOE $1,000
HOE $200|{L OFF $1,000
Z O $100|%2OFE $1,000
ZO=E $1,000|EEOF $2,000
#FO KRR $600[=OH $100
Oz $300[ROF% $200
LOE $300[FHOZF $100
BROH $1,000]#H# O5A $100
PO $2,000[5 0= $100
BIOZR $200[FH O $100
O $100[EBOHES $400
BOF $1,000{£5OFE $200
FROH $500 [ Or532 $500
FOAED $500) ofefE $3,000,000
HOH $100[ZFO1 $200
TOWRAL $500[Ex O EERIZ $600
RO $300|122OF $500
=0 $500|BEO1E $1,000
TORE $115|5EOHE $600
+O% $200[FEO%k $600
HOZ $500[FEOE $600
SOR $100[BROF $150
) $100| EOE $200
FOH $100| EO4 $200
5 OFE $100[EOFE $1,000
2O $100[FFO*E $3,000
ZOF $100[ EOHK $150
Z=OA $100[FRO%E $150
O $100[BROZ $150
HOL $100[#7ORE $1,000
Z=01a $100[t5OFH $1,200
PO $100[#5O%E $600
£0% $100[5EO#E $600
£0O8E $100[t5OFE $600
HOE $100[tOF $600
£ZON $100| % Ot $1,000
20k $100[= O%k $600
TON $500[ETFOFx $600
ROZE $500[FHOLL $600
RO5R $300[#FO1E $20,000
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S5OF% $1,000|E O $1,000
EOR $1,000{ EO" $200
#O® $500| EO $200
ROERZE $1,000) 5RO $600
ROA $1,000| 52O H ¥ $600
FEEAESF $2,000[AFOZ $1,600
STHESE $1,200[5 O 5 $250
BES2 $1,200|88OF, $250
SEEE $1,200{BB O ff $1,000
SIRHE $1,200[FOE $2,000
SRARGY $1,200(5Z O $2,000
R $1,200|520O+ $500
Bt $1,200{E Oz $1,000
e $1,200(#EO = $100
SIEE $1,200|1210O%&F $1,000
TR EE $1,200{ EOHIEHD $500
e $1,200{ A O $300
$H%E $1,200{ & O $500
BEE $1,200{& O $500
SEETE $1,200[B O % $100
HEZ $1,200| %20 $1,100
B $1.200HOE $500
A $1,200{220 %% $1,000
PR AET S $1,200[fR O % $100
TR 5 $1,200|FH O $600
PGS $1,200 [ O% $600
PRAEMT & $1,200| = Ot $600
SO $1,000| 2O $600
HOE $1,200|fFROFF $600
S[ORE $100|BEOF $600
PROZE $1,200[BR O3 $600
RO $1,200|=OE $600
FOH] $100|fHOF# $100
ROZ $1,200| RO $100
PO $1,200 (B Ok $600
FOT $100|2I0F $600
RO $1,200[#k O $2,000
FOFk $100| 2O FH $600
= OFE $1,200|fFHO&H $600
2O $1,000[fOF $100
FLOERE $100|5x O $100
RO $2,000( B O $100
=OZEE $1,200| RO I $100
FOHE $500[ EOBE $100
=2@) ! $500| RO JEE $100
PR Ot $200| RO $100
%OBH $1,200[5F O£ $100
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sTOSEE $1,200)BR O $100
PO $1.000[FFOE $100
ZFOHE $1,200)5F O e $100
TO%E $1.200[FOE $100
TOBE $1,200|5E O $1,000
LOMHE $1,200[FR O $300
HOHE $1,200|1#k O] $1,000
O AL $3.,000FEOE. $1,000
#O $1.200{5 O™ $1,500
A Ot $1,000[5R O F $600
BEO & $2.400) L OHE $100
HOFEH $1,200| &£ OFE $10,000
@) $1,200{ O FAE $300
O $1,200[FEOtF $300
HO=E $1,200|BOHE $1,000
EOH $1,200[ FOE $1,000
BO# $10,000{ =04 $1,000
=OEE $600[ZBOR $100
OB $1,200|EL O $100
Wi O $1,200[F Ot $100
s O, $600|HFOZE $100
O $600[E O $100
EO% $600[EF O $100
ZOBE $1.200 [T O 5 $100
HOFIL $200[#E O $400
HOFIL $1,000{ O $400
ROZTAL $1,200[ O $400
ENOY/N $300[#FO1T $300
HOEE $300[f17O H $300
HOME $300[FFOfE $300
HOBH $400|1220OE $600
ZOH $300[#EO%& $600
BOR $1.000|2£ O $600
MO $500[Z£OFE $600
SO $668 | O4: $300
AEOZE $666[EOZK $300
SO $666|EECO $300
H=O $1,200|8EO& $300
BEOZX $1.200|8E O E $300
B Os $1,200|122 O $400
BEOR $100,000{#% O $400
BOZ= $1,200|#5OH $400
PROZE $1,000| 52 O%E $300
RO $600[BROE $300
£0% $600[#FO%z $300
B Ot $1,000)ZOF $100
BOE $10,000|FO %k $100
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BOLH $1.200[EFO % $200
EOT $1,200) B O4= $200
MHOEAE $700[5= O $200
BROTE $800)) TOE £ $100
TOX $1,200) % O $400
FOtH $1.200({FO =/ $100
TO%% $1,200[EH O $600
HOZHE $1,200| £ Ot $1,000
TOE $1.200| £O%& $1,000
FO&% $1,200| FOFF $1,000
HOMR $100[FROH $500
ZOtE $100|E=0OF $1,000
O $100[=OF $5,000
2O $100[ T O% $600
O $100[ T Ot $400
O $1,200(7% O F 3 $300
RO $1.200(#F OF& $1,000
=0% T $21.400| R OF5 = $500
BPOFFAL $1,200[#H OFF4F $100
FOEM $1,200[# O $200
FOF $100[f O $100
FOBL $100[z=O#F $500
ZOR, $100[H O $200
PO $700[FEOA $100
OB $700[EEOZ $100
PO $700[ O $500
PHOLT $700[ RO &L $100
FOH $700[ERO%K $1,000
MOE $700| EOH $500
HO1a $700[E Of& $200
ZOE $700[FLOH $100
HO%E $700) TOZEHE $1,000
£ 0% $700[BBOZF $500
£OWE $700|F O $300
WO $700[ PO $100
HOZK $700[ R O%% $100
O $700[AROHIL $100
BEOE $700[RO5E $100
BEOZEE $700[#ROZ $100
£ZOH $500[EO3L $100
BOH $500[ZFOZK $300
BOH $500[#ROF* $100
ROE $800| Bk OFE $100
BROZE $800[#k O $100
BROSL $1,200| 2O $100
ROHL $1,200)5=O% $100
BROFT $1,200|FRO4E $100
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MHO% $800 BB O $500
BRO $1,200{ IOk $200
£Z0= $1,200{=0O7K $5,000
EOH $1,200)47 O $500
FEOfE $1,200|1# O] $1,000
FOME $1.200[fROFZ $100
& Oy $500[zZO A $1,000
PROE $1.200(ZFOHEE $3,000
BROZE $1,200[;5%O1F $50,000
PROZE $1.200{FEOTE $100
BOA $1,200{BROEE $200
ey e g =l (RN $8.000[ EOZ=E $2.400
BO% $1,200| O $1,200
=0% T $3,700|ZOFF $200
FOFE $3,000|EFO=L $200
EEOM $100[EFOH1 $200
HOHFES $500[EF O $200
RO%Z e $1,200)B O $1,000
HOR, $5.000) B O3 $1,000
PRO= $3.600) B O $200
BORE $5.000[ZF O = $100
FR OB $1.200[FR OS5t $100
BROH4&l $1,200[FFO & $200
BOE $500[FIOf% $100
MHOs2 $500[BROZ $100
MO $500[HO & $200
MHOHE $500|FEOF $200
SOk $10,000);O%H $200
=0O%+ $100|= O $600
£0H $20,000| = OJEL $600
BROA $1,200|1#+O $600
BO#H $1,200[ £ O $600
S OL/NBK) $200)ZF= O $1,000
EOZHL $6,000[=O $100
RO $500[FR OEE $200
ROF $1,200)B O $200
=OZ $1,200[FEOE $100
O $1,200{FRO#% $100
= O $10,000| EO% $500
AEO#R $3.000|E= O $500
BOF $2,000| kO3 $200
RO $1,200|ZF O $100
ROKT $1.200pTOHE $200
BO% $1,200(2£O%F $200
O $1.200|2£O%F $200
BO% $1,200|FROEE $200
HOF $1,200|FO#E $600
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HOHT $1,200|FO#E $400
B O, $1,200{FHOH $1,000
HOL $1,200[{LOZ $1,000
RO T $1,200{#7 O % $1,000
BOE $1.000|FHOE $1,000
HOBE $1.200(fiOF $1,000
RO $1,200[ 2O $1,000
=O% $1,200) % O% $300
B O $1,200( % Ot $300
= OF $2,000{ & O¥ $300
FOFk $1,200)% OfH $300
FO#H $1,200)1 8 O $300
- OE= $1,300)% O $300
TOH $3,000) 8 Ottt $300
BO= $1,200[EFOH $300
BOE $1,200|= O $300
BHOE $1,200|Ep O $300
75 AR ZERE i A IRV E] $500[EBOEE $300
i Ok $300[OZE $300
BROE $150[ = Otfg $300
BO== $1,200{#k O $300
i OB $1,200|#k O $300
ZIOF $1,200|= Ot $300
ErOZR $1,200|=0O% $300
O $600[= O $300
FROFMH $1,200[tO 75 $300
RO $1,200|ZFOLL $300
TOHk $150| 8 EFEPEFAZE AR E] $8.000
PROZE $150[frOF $1,000
BROZ $150[ =0+ $100
L O $1,200|2 O $2,000
FOFHFX $1.200{rO % $1,000
ZOH $1,200[#O ke et $500
BRO®& $1.200|BR O $500
B OF% $1.200| B 2ot $20,000
RO $1.200{ = Ol $1,200
BROZE $1,200) B O $1,000
AEO4N $1.200[:OR $1.400
£0OE $1,200) O $600
ZOHE $1,200| B Ot $600
FIOH $6,000|Z= Ol $800
HOE $7.2001Z20 $600
HOE $20,000[FEO=E $600
£0% $2.400)FEOF% $600
BIO% $1.2001Z=OREH $600
HOLUI $1.200[z=0O# $700
BROH $4.800) & O $700
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w08 $1,200) &= O $700
PO $1,200)1220 $300
HO&% $1,200)1Z= O $800
£20) $1.200{z0% $800
FORK $1,200[ O $800
H#HO $3.600[3ELO= $800
BHOR $3.600)1Z=OFL $800
BO&E $1,200)3EOF- $800
HOF2 $4.800) 2= OF% $800
FR O $1,200[4L O $800
O $10,000[#O $800
MO $1,200{#O8E $600
ORI $1.200FEO& $600
sHORE $2,400) 2 O $600
g O== $1.200{#FO1E $20,000
BROZE $1,200{50 O $600
FHOT] $1.200[FOF $300
ZFOtiE $3.600FEOF $300
sTOJR $3,000)FE O $300
HOF $1,200)FE O $300
£OE $1.200[# O $600
fTOZE $2.400[#40O $1,200
O $1.200[HO % $1,000
HOLC $1,200) B O % $100
FOHE $1,200) & OBH $200
SO $2400| 8O E $200
e OREH $6.,000) i OF $200
e OHE $1.200[4EO4T $1,200
RO% $6.000[z=ORd $1,000
HOA $2.400[7ROZE $1,200
H=HOZHE $600[ 2Ot $600
+OF $2,400|F Ot $100
ZO® $1,200{ kO $200
IO $1.200[z=O>L $200
RO $3.,600) E OFE $200
PROFH $1,200[OFE#e $1,000
O $500[HEOIE $200
BRO& $6.000] i O=L $200
FOE $1.200)4&2 O $200
BROIE)G $1,200|58O ) $200
HORZ $1,200) % Of# $200
TOHE $2.400) % OF $200
A O $1,200| O£k $200
RO $1.200[FE O $200
=0 $500[FROF $200
BHOH $1.200[z=0O# $200
BOin $1,200[5F O $200
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LOZEH $1,200[5FOE $200
INNS=E2 R G i $6,000) 5% O $1,000
O $5.000) B O$#, $100
TOXR $600[ RO L $200
T O $400(Z O $100
RO T $300|&£O EEREIZ $600
A OFe $1.000[FRO $100
BROFE $300[#E Ot $2,315
O $100[ =0T $120
MO $200|2£ O $3.000
RO $100[2£O%F $3.000
ROt $100|2£2O% $3.000
1O $200|52 O 8t $3,000
SO $200/2£ O $3,000
FEOM $100|Z£OFREE $3.000
BOZ $100[ZEOZE $3,000
HO#H $500[FFOF $100
POH $100[B1OF5 $600
ROk $1.000|1#EO38 $2,000
Oy $200[F Otk $100
+OE $500[#EOE $100
HO& $200[FH O $1,000
FOH $100|2IOF $1,000
LOZEEE $1,000)BEEOF* $100
BROIT $100[z= O $100
O $500[BR O $100
FOE $300[BRO $100
PROR] $100| EOH $100
KOZ $100[FROJE $100
ROF $100[FROfZ $100
RO $100[EFOi% $100
WOZ $100|FR O $100
FOK $300[5FO=E $100
POTF $100[EFO f, $100
WEOFE $100[5TOZE $100
HOA $100[ EOAHD $500
RO $100[FRO= $500
RO $100[EB O $200
BRO&H $100[EOH $100
HEO® $500[FR OB $6,000
sTORd $1.200|1#FO%E $200
O $300= O35 $500
EAOLEES $100[52 Ot $400
ZOR $100|FPO $100
BRO & $300[2OF4 $400
Z Ol $200[BRO#F $200
fiti OF $100[FR O $1,000
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§TOTF $200[FEORE $1,500
TOHS $1,200|=OH $600
PROFR $2,000[52O%= $1,000
MO $100| A O $1,000
w3 $100[/HOFK $1,000
OB $100| A Ok $1,000
AEOFES $500|FE O $1,000
fiti O 1 $100|52OF $1,000
fitt O=L $100[FH O $200
LO= $100[ AR O $25
O $100[AROZ& $25
g O $100[AROZ $25
g O/ $100[ & Ok $25
2OZ $100[EXOFJ $500
FOZ $100[EXOH $500
FRO®E $100[s#E O $5.000
e O $100|EHO+ $300
sTOfif $100|EOE $1,000
sTOf2 $100[EOT $5,000
BRO#E $200[#O%E $100
sTORK $200[FH O/ $1,200
PMOZR $200[FHOH $1,200
PO $100[ZFO1 $200
O $400[sEO A%k $1,000
g O $1,000(#OFEF5 $500
£0 $200[ZBORE $100
ZO% $200(Z O $100
ZO% $200[5O 52 $500
FOM $200fR O1& $1,000
HOE $200[EB O $100
Z O $200[F O 15 $100
FHOFE $200|HFOZE $100
ZOf% $200[E O $100
HOZE $200[EF O $100
HO $200 R OF $500
s O $1,200|22 O $500
Ok $1,200) B O$#, $500
MO $1,200) &= O $400
BOE $300 |t O $100
BO% $1.000|18O%E $300
HOMESE $600[;LOE $300
O $600[HOZ $1,000
s Ol $1,200|1FOF $100
iTOR $1,200)F Ok $100
HOE $100[ & O $250
MO $100PTOEE $200
RO $100[Z OIEl $800
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RO $900[#HO 2 $800
ZIOB= $100[m=O%E $800
2I0B= $900[ 7R Ok $1,000
BOE $300[ARO#H $5,000
MO $1.200|F O $800
HOZ $1.200[ZFOfE $800
O $1,200[ O $100
MOFE $200[EEO K $2,000
20X $200[ RO $100
£0OE& $200[EH O $2,800
BEOR $3.000[ £ O $100
BOH $300[ F=OM $1,000
PRE e $20,000[ARO % $1,000
KBRS $20,000|=OH $400
FAO+ $2.400[=OF $1,000
FAOT $2.400)H Ot $5,000
ROZE $500[E OFE $1,000
£0% $500[FEOF $600
BRO1E $1,000{E=OE $600
=OIESR $12,000[t5ORE $1,000
O $200[= O $600
O $300[= O $600
F Ok $600| 5 O%E $600
TON $500[E= OF# $600
ROZE $500|1 MO % $600
RO $200 | F Oy $600
BOZE $1,200[FF O $600
A O $100[EROIE $600
A ORL $200[f O 5 $600
0O $200 | Fs O%E $600
O $200[E= Ok $600
FEAERE $100,000{=O= $400
H=O/H $5,000[FEO K $400
TOE $100[t5 O $1,000
TO%& $100[5&O%E $1,000
HEO%m $1,200) &= O $600
HOF $1,080) &= Of& $600
HOZL $2,700|E OtF $1,000
HOE $1,000)5ROFK $1,000
PROHE $1.200{FPO%E $600
O $600[= O $2,000
ZF O $600[FEOE $500
£05 $1,200|BR O $300
=OE $1,200[ FOE $200
w0 $1.200{EO4= $200
s ORI $1.200{EOHE $300
EOF $1,200)f O % $300
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BORE $1,000(ROZ $300
BOF $400[ EO™ $200
OBk $1,200| O $200
ZIOa 4 $1,200[&=0O% $5,000
#H OF] $1,200| &k O < i $600
=OBk $1,200|FEO $600
POEE $1,200[HH OB $600
=OH $5,000{ FOFE $600
TRO# $1,200)4E OB £ $600
ROE $1,200[ T O $600
TO% $5,000{ T O#% $400
PR OFt: $1,200| 21Ok $200
PO $1,200| =OFE $600
HORE $1,200[BROBF $500
ZOFEME $600[)&OFE $1,000
O $1,200| O % $1,200
@) $1,200[#RO4F $500
BOX¥ $1,000FO E e $300
FO® $100|F O $1,000
+O= $100|fHOFZE $500
HO4E $1,200|F O§F45 $100
HROLE $1,200| RO $500
21O $1,200|1#A O $200
O $1,200{FE O%5 $500
HOR $1,200|BEOEF $100
O $1,200| EOHH $600
FROMW, $1,200| & O $500
HORE $1,200|1 RO F5 $600
BO— $1,2001750 $200
ORE $1,200|8B O $200
O $1,200|EO $100
BOF $1,200[FO2 $100
BOF $1,200[F O $500
RO 55 $3,000 RO i $100
O $1,200| 0%k $1,000
OH $1,200| EOH $500
20X $1,200|# O $200
2O $1,200[3tO3H $100
O, $1.200TOZ % $1,000
O $1,2005F O $4.000
= O $1,200{BBO%3 $500
ZORk $1,200|20OF $300
EOA $1,080|1 R O] $100
O $1,080| RO%t $100
RO $1,080[ KOs/l $100
BO¥ $1,200/ KO $100
EOdL $1,200[FEO $600
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BEOX $1,200|5ROE $500
PO $1.200) POk $500
BO= $1,200|#k O $100
RO $1.200{EO>L $100
SOt $1.200{ZFO%K $300
FOH $1,200)#kOF* $100
HOR $1.080|#k O $100
ROF $2,700)#kO4n $100
BOEHED $5.000) %O $100
HOFT $1,200)7=O% $100
#HOMG $1,200) B O%F $100
FROZK $3,600[%=0 $1,100
BOR $1,100|#H O $500
BOLC $3,000{E= O $200
BOH $1,200|FO2& $500
BEOKE $500[F O $500
BROZE $100|EEO Ity $5.000
SOt $600[HEOE $5.000
FOHE $1.200{FEOTE $100
BRO B $1,200{BROEE $200
RO $1.000|ZOFF $200
BRO$ $100[EOL $200
FO/E $1,200{#O o $200
FOR $1.200|1Z Ot $200
BROE: $100| EOERYH $600
RO $1.200[ZF O = $100
RO $600[f Ot $100
21Ok $600|2IOF $400
FOK $600[EROIiG $200
1 OF; $600[B1Of% $100
ZFOHi $600[BROZ $100
FOE $600| 21O 2Tk $400
g O $1,000|12I1OJ= $400
FOuk $1,200{21 O $400
RO $1,200|1210& $400
ROE $1,200[FEOM $300
BROF $100[2[ O $300
FROM $100|FEOH $300
BROEE $100[FEOfZ $300
BROBE $100[EBOZE $200
T O $100[fR O %= $200
BROkE $100[5= Ok $200
RO $100[FOE $400
sFOi% $100|5=OE $100
RO $100[FROEE $200
ErOHE $100[FR O $200
sTO = $100[fRO=E $100
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irOF $100[fR O $100
£0% $1,000|1 21O $400
FOEK $600[# O $200
ROFEE $600[E O $100
SO $400[ B O $600
FOM $400|#EOFE $1,200
BROE $200[H: O $1,200
EOxE $500| HABE P FH 2 A IR /A 5] $8.000
=OE $500| 2O $1,000
=HOH $600|5=OF $800
BROTKSE $1,000|12=O1= $200
HROE $600[FRO%E $100
HO4 $600[ = O, $100
FHOIK $1,200[FrOZ $1.000
1 $4.200(HOE $2,000
i (B8 $1,200) B O$#, $100
i T $1,200|HOf= $5,000
il s $1.2000TOZE $5,000
Gzl $1.200)8F O EEREZE $600
Al $1.200|2£OF $500
VLI $1.200[EROHHES $2,000
L $1.200 (PR O $1,000
AREIEES $1,200{FR O $100
AR $1.200|=0O%F $100
WESEEE $1,200) &= O $400
JLEEIE $1,200{21OF5 $400
= i $1.000|1#E O3 $2,000
HiEE $1.200|2O& $100
Prf 4 $1,200{% Of% $250
FH $1.200[#EO $100
SO $200|210%F $1,000
O $100[7ROHS $2,000
ZO=E $1,000|BEEOF* $100
BROH $1,200)47 O $500
O $3,000)x O $100
=OT $500[BR O $100
RO $1,200( PR O $100
O $1,000{ O $100
FO1E $1.000) B O£ $100
FORMH $600[ER O $100
BROBS &5 $200[EFOi% $100
2IOF $600FH O $100
O $100[ETO*E $100
£0H $1,250|5F O e $100
BROBK $1.250[FOE $100
£0f& $1,250|5E O $1,000
ZOHE $1.250[EOH $100
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ZOE $1,000 0% $300
O $400[F2 O $500
2OF% $300| EO $500
S0% $1.000[=O= $500
EOW $1,000[ kO3] $1,000
#OR $500[ kO3] $1,000
TOE $100[O% $1,000
MO $100[ O ERE $500
OB $1.000[HO $500
BOE $100| Bk E FZcE L $20,000
HOE $500 /575 SR $600
@) $500| EOA#D) $500
HO% $300] O $500
BO% $200[Z0 % $100
BOf $200[BEOH $400
%05 §3.000] kO $400
O $1,000[5 RO $400
BOE $100[2£07% $400
KOIAESF $300(ZXOFF $400
B0 $100[550% $400
WO’ S100HOE $400
BO=E $100[#5O=E $400
BOLC $100|1ZZ0O= $400
HOF S100FFOZE $400
RO % $100|FEORR $400
BO%E S600| EOKE $400
HOR S600[FOF $400
O $600[BEO T $100
Oz $300([FEOFE $200
TLOE $300[EFOFE+F $200
HROAL $600[EFO $200
FOUEHD) $500|BEFOH $200
HOL $2.115[80 1 $200
BOE $300[5ROEFH $400
BO= 51.200[BO = $1,000
EOE §500[BEO %k $1,000
=0 §1.100[BEO % $200
Z0O4X $1,000{FFORE $100
H0(- $200[ O R $100
BEOT 55.000[BEO $100
HOE $3.000[BO £6 $200
RO& §3.000|ZIO 5 $100
O $10,000|fEOZ $100
;O $1,000{FFOH $100
ZO% $200[HEOE, $200
HO= $100[5EOR $200
HOE $1,000+O%5 $200
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AROH $500[EB O $100
SO $500[FOfa $100
FOZE $500|HFOZE $100
RO $300[E O $100
E O3 $50[EF O $100
HOE $100ta O $100
BROF $100[5OZ& $2.400
HOZ $500[FFOF $100
B KET $1,200)F Ok $100
HOZE $1,200{FE O $1,000
FROHE $100|5=OE $100
FOME $100|FPO $100
HOECER) $200[FR O $200
#HOT $100[FR O $200
EO= $400fR O $100
BROZK $200 | O $100
ROT $600[# O $200
g ORE $2,400|ZL O $100
MHO% $200[#FOFE $10,000
BHOE $1.200|¥O%E $20,000
F O $600[#£ OB, $600
FH Otk $100 % T2 $20,000
BIO%k= $1.200|EOE $1,000
LOME $1.200[z= O $2.315
EOE $5.000PTOFE £ $200
HOFIE $100[Z Ot $3,000
F O $1.200|E=OF $5,000
BHOHE $1,200[E Ot #S $400
BHOZE $1.200{ T O% $600
BEEOK $100,000{ T O#h $400
el $1,000(7%O 35 $300
RO $1.000[#F OF& $1,000
H O $500[ROF53E $500
TON $1,000[FH OFF4F $100
ROZE $1,000[# O $200
JLF5F $500,000|BROEF $100
#®O% $1,200|=O#F $500
FR O $1.200[750 $200
#RORE $1,200|F Ol $200
£Z085 $1,200[=O% $300
A OB $1.200[FE O $100
A OFg#(] $1. 20002 $100
A OZEE $1,200) POt $100
O $1.200[FRO%k $1,000
#OfE $1.200[EOH $500
O $1.200[F O $200
O $1,200[#LOH $100
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F O $1.200 TOZEEE $1,000
OB $1,200| =05 $1,220
+O# $1,200{50O%F $500
TO= $1,200|F O $300
w=O% $1,200[#R O] $100
O $1.200{RKO%% $100
F O] $1,200) KO8l $100
TOE $1,200[FRO H $300
+ 040 $1.200| R OF $100
HOE $1.200[R O $100
BOrE $1,200| £OL $100
ROFEHE $1,200)1FO%K $300
#ROF $1.200|#kOF* $100
#FOH $1,200{#kOE $100
£Z07T $1,200)#kO40 $100
#ROHi $1,200| %O $100
BAO%m $1.200[5RO%= $100
MO $1.200[EEOF $2,000
HOZ $1,200|FRO4E $100
ZFOHE $2,000)| O $100
RO $1,200[%=0 $1,100
HOE $1.200[FHOE $500
BROE $1.200[=0O% $2,000
FEOL $1,200[FEOF5 $200
F+O&E $1,200| 21O $3,000
MO $1,200|ZF O $400
FEO $1.200|=0 F $1,000
BOR $1,200|#5O% $1,000
= OFF $1,200|8OFK $500
RO $1.000[EF OTAESE $1,000
SO4 $1.000[ 5= OFEL $1,000
FOEK $1.000{=OHE $500
SO $1,000 LOf $500
O $1,000[E8C $500
FO8 $1,000| EO= $1,000
FRO $1,200[#5OSRAE $1,000
w2 $1,200{FR OB $500
= O $1,200 O $500
TOZ $1,200[F1Os% $500
IR S A IR A H] $16,000{FIOFHE $500
HO{ $3,000) 5= O $200
LOZE $3.,000) B OLER $500
Ok $1,000] BROME $500
BROIE $1,000)% OF= $200
BEOR $3.000| AT O $200
O $2,000) = ESREZIA T & $10,000
frOF%& $1,000{£5OFE $200
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o OMR $250[ AR OB $2,700
FOH $1,500[5FEOF $5,000
FOH $3,000| =0 %+ $1,200
HOZ $1,300| = OEM $5,000
HOZ $2,600[ RO IE $20,000
BO%E $1,300BEOE $1,000
BO%E $2,600|FO% $5,000
FOE $1,300|BEOEELE $1,000
FOE $2,600[5O %% $1,200
{HORE $1,300|12£04 $1,200
HORE $2,600|E Oz $5,000
R2OE $1,300{ & O $1,000
ROE $2,600|15OFE $1,000
O R $500| B O $100
PREFpFCE L $20,000| & O $1,000
HhEE SRR RS $30,000;TOHk $200
ZOFE $500|12£0%= $100
BEO# $1,000{25O%= $200
BROME $1,000(22OF $100
—0O%+ $100|125OF $200
HO& $600[ERO B $100
=L $400| &b FCE L $20,000
ZOH $1,250| BB = $300
BROEK $1,250| 2Ot $600
20 $1,250|{ 2 O% $1,000
20% $1,250|&ROFk $1,200
=K $2,000[FEOE $1,200
FROAL $600[ % O $2,000
B2O% $1,000[FEO £ $1,200
I O% $500|1#RO1E $20,000
EOH $100[ZO# $400
EOFE $100| 2O $400
BRO $100[BHO%E $200
OB $1,200|2= O $600
=O% $1,200 (g O $100
O $1,200[FEO % $3,200
=0 $600 [ R B ML B A TR A H] $3,000
=0 $1,250{H O $500
HEOHk $20,000( % OHA L $100
FOE $100[OR $100
FO4% $100[5EOFI $100
#EOE $600|FR Ot $100
O $600| 5 O $100
75O $1,200( 2 O R $100
FOE $1,200[[HOFEEL $500
ZOREA $600 |t Ot $100
= O $1,200[jifE O3 $100
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ROE $1.200)&2 O $100
B OF $1,200{50O %) $100
HOL $1,200) % Of# $100
w2 O $1,200) % O8 $100
210t $1,20018 O£k $100
FIOF5 $1.200[FE O $100
= OfE $1.200)B OF& $100
= ORB $1,200| 5 O%#, $100
O $1.500[FFO fif $100
BROHT $500[ETOf $100
ZOligg $500[#RO $100
BRO$ $500[EB O $100
EOMT $1,200|1FO%E $100
MO $1.200[7R O $1,200
AEO5E $1,500[5R O $1,200
LOHg $1,500|5R O $1,200
O $1,500|5ROHg $1,200
SEOHD $1,250[5R O $1,200
FEOR $600[BIOF $200
ZFOHi $600| 2O 2Tk $200
i O4F $1,200|121OJ= $200
HOE $1,200|121O $200
EOF $1,200|1210& $200
w= O $1,200[FEOM $300
TO& $1,200{ 21O $300
TOFl $1,200FE=O 1 $300
HOME $1.200FE=O% $300
OB $1.200[{FFOE $200
#HOE $1,200|121O% $200
#HOH $1,200| 4 EE N\ SRGH L EHE & $10,000
FOH $1.200{FEOF $150
H OLL $600[HOH $1,200
MHOIE $40,000{ +=O%k $150
EOH $100[FRO%E $150
TOF $100[BROZ $150
H OFk $600[HOBK $1,200
BROF $1,000( % Ot $1,000
PROZRE $1,200|=0O % $1,200
e Oz $1,200) 5= OFE $1,200
FOBK $1.200[KOH $1,200
FOHEE $1.200{ZO5A $1,200
HOZ $1,200|12FO1= $200
FEOWS $1,200|5RO 5% $500
T O $5.000[2£OF% $500
A O ZE $1,200[E Ot #S $500
SOk $1,250[FRO 1 $1,000
SOk $1,250) & O $400
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BROZE $1,200{1OF5 $500
ZOFME $1.200{ZIOk $200
EZOl] $1,200)% O $250
O $1,200|2 O $1,000
SEOmEL $1,200)47 O $500
BROE $1.200| B2 O $2,000
BROSE $1,200|1tR O $1,000
=0O% T $120|5# O /e et $500
ROk $300[ EO# $100
EO% $300[R O $500
g Ot $300| Bk FhFoE 1t $20,000
g O $300[frO% $1,000
g OME $300| =0+ $100
O $300[FROEF $300
gOE $300[FRO%E $100
g Otfgtt: $300[HEOFEZE $10,000
HOR $300|F Ot $100
wOF $300[FROF $3,000
HO $300[fROL $100
SO $300[FROF* $100
MO $300[z= O $100
SOt $300[FR O $100
PO $300 R O $100
PO $300| EOH $100
s OfE $300[FROJE $100
w0/ $300[BROfZ $100
s O $300[EFO% $100
BOFs $300fF O $100
HOEL $300[ETO*E $100
RO $1,000)5F O e $100
+O&F $125|5FOF $100
O $125[FRO= $500
+0O¥% $125 | O $10,000
BOE $125)7%O $3.000
BEO $5.000]#EOFK $2,000
=OH $120|PBR O $2,000
O $200|HE=OPE $2,000
BROE $150[ 2 O% $300
PROE $1501% Ot $300
A OL $100[ 2 OF $300
TOHk $150[ 2 OfE $300
TOHk $150[& O $300
BROZE $150[ B O $300
BROZE $150] & Ot $300
BROZ $150[ERORY $300
BROZ $150[m= O $300
FOE $1,200|EBO $300
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SORM $500|ER O $300
ExOFREIZ $600[FAOZE $300
g Ol $1,000|52 Ot $300
O $100|1 RO $300
2OF $1,000|1#RO7 $300
+O $300) 5= Of: $300
+O= $300| & O7F $300
SOR $1,000{= O $300
FOE $1,0001#0O75 $300
PROTE $1,200[EFOAL $300
2O $1,200| 2 O3L $300
HOXEE $1,200[FOE $1,200
ZIOEZE $1,200|1ROZK $1,200
210 $1.200|&x O ER[EIZ $600
BOM $1,200|H Oz, $1,000
HOT $1,200{FH O $2,315
FOMR $100FEOE $100
Ot $100[ EOUED $500
HO= $100|#k O $1,000
FOL $100[i= O $500
EOHF $100|1#5 O $100
F O $100|EH O $2,600
2OFH $500( = OFf $200
HOF5 T $1,200| 5% Ok $500
SO $1,200{FEOL $500
= OB $1,200| RO IE $100
ZO% $1,200[FEOZE $200
BOFFH $1,200 COHE $1,200
SROF I $1.200|EOFETF $200
BOF $1,200{EFOSL $200
EOH $1,200{EFOH $200
#HOTE $1,200{EFO% $200
MO $1.200|§# Ok $1,200
=0 $1,200|ZF O3 5= $100
FORE $1,200[FE OB $100
HOF $1,200[EOFE $1,000
R O%k $1.200{FROEIE $200
= Ok $1,200[=FO= $50,000
T Oz $1,200|210% $100
SO $500|BR O $100
HOH $500|1#5 ORE $1,000
HOEF $1,200| B O $100
RO $1.200|EF Ot $100
g O%k $1,200[EFO%E $100
=2OH $1,200|EF O $100
ZOE $1,000| B O F $100
=HOFH $1,000[f7 O $100
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PRO 8L $200[t5OFH $1,200
BROkE $200[ZFOT7 $1,000
BROHE $200[EOFE $1,000
BRO $200[E= O $1,200
BROF $200[E=OZK $1,200
sTOH $600[BROFR $6,000
FO#h $200|5=OE $100
BIOZR $200(fR OFE $200
B OHE $2,315[FRO $200
RO $1.000{FROZE $100
TOAIED $500(FR O $100
=50 $500[# O3 $200
%0 $1,100{EFO $100
HOE $500|= OF| $2,500
BROF $100|52 Oz $2,500
PROZE $100|= O5¢ $2,500
BRO#% $100[#FO% $2,500
O $5.000) /i O % $1,200
=OS $5,0001iti O 75 % $1,200
BROZE $100|FF O $100
JTOx $600| EOFEE $1,200
TOXE $600/2£0O $1,200
T O## $4005 O $1,200
T O## $400 &k O $2,000
RO T $300[ZOR $100
EOEFHe $300|ZF Ok $2,000
A OFE $1,000{ =0+ $500
A OFE $1.000|18O%E $300
HOWEIE $100[TOE $300
HOWEIE $100[£8OF $100
BROF $100[FOtk $100
O $100[BIOF $1,000
PROEE $100[EBOZE $200
BROBE $100[fR O %= $200
T O $100[5= O $200
BRORE $100[7R OB $5,000
RO $100|HE=COH $1,000
s O $100[FO#h $2,000
BROZ $100|FPO $100
sTOE $100[=OF $125
s O i $100[ O $125
sTO%E $100[ O $125
MO $200[EBOE $125
MO $200|%20O $1,100
RO $100[FECOiH $1,000
RO $100|EHO+ $200
O $500[FI Ot $1,000
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770 $200[EHOZ $50
70 $200|FEO& $2,000
SO $200| RHE AV A (A TR/ ] $3,000
SO $200[ O $2,000
FEOM $100[ZOL/NBK) $200
FEOM $100[BO%x $200
BOZ $100[E= O $500
BOZ $100EE Ot $500
HO#H $500[#FOFE $500
HO#H $500/21OFE $600
PO $100[BI O $600
POH $100[ZFOZK $600
ROk $1,000{Z1O % $600
ROk $1,000{ZFO%Hii $600
BO%E $100[ZFO% $600
+OE $500p T O $10,000
+OE $500] = O $1,200
HO& $200[ = O $1,200
O’ $200[#F O $20,000
HOHE $100[£ROfE $2,000
HOHE $100[EB O $1,200
LOZEEE $1,000)E=OF $5,000
LOZEEE $1,000| T OZ $600
g O%k $10,000] T O$# $400
BROIT $100]7% O F e $300
BEOZ> $500|# OF $1,000
O $500[ROF53E $500
FOBE $300|# O $100
FOBE $300[#FOF= $200
PROR] $100[fOF $100
PROR] $100[z= O#F $500
KOZ $100[ 50O $200
KOZ $100[#BOHE $200
ROF $100[FEOA $100
ROF $100[EEOZ $100
RO $100[RO & $100
RO $100|FRO%k $1,000
WOZ $100| EOH $500
WOZ $100[E Of& $200
FOK $300[HEOH $100
FOK $300PTOZEZE $1,000
WOTF $100[BBOZF $500
WOTF $100[FOE $300
PO $100[FFOF( $100
PO $100[RO% $100
HOA $100[AKOHIL $100
HOA $100|ROF $100
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FO $100[#ROZ $100
RO% $100[FO3L $100
RO $100[ZFOZK $300
RO $100[#ROF* $100
PROZH $100) K OFE $100
BRO&H $100[#k O $100
NG $300[52O¥ $100
E O3 $50[5R O $100
O $2,000) B O%F $100
HOHR $1.200[H O $500
SOk $1.200[&£ O $2,000
OB $1,200{£5OFE $200
HOR $1,200( % OHA%E $100
O $1.200|8OE $100
FOi $300[ ORI $100
FOx $300FR OF $150
FO1E $300|%= O+ $500
MOk $300[#E Ot $100
AEOE $500[F=OL $100
EAOLEES $100[E= OKE $100
HOR $100)| £ OHk $150
BROIE $100[FRO%E $150
fite OF $100[BROZ $150
BOH $1.200);E O $500
BROZR $200[HEOTE $100
HOFET $200[EOSL $100
HOL $200[40O= $100
HO $200[B3O %) $100
HOE $200| & Of# $100
FAOZE $3,000) % O $100
SOt $600[ 4 OF $100
RO $1.000[FEOZ% $100
BROME $1.000)B OF& $100
BROZR $200[=O#h $100
FPORE $100[EFO i $100
F O $100[ETOfE $100
BROSE $100[#RO $100
MO $100| % Ot $1,000
w3 $100[EROE $100
s O $100[#OE $100
BROXEG $200[FEORH $5.000
AEOFE $500[tHOR% $1,200
fitt O 1 $100| = OFM $1,200
fitt O>L $100[BBO¥HE $1,000
LO= $100[FRO4= $1,000
O $100|Z2ORE $5,000
g O $100[O=E $1,000
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g O/ $100[EEOE $500
qOE $100|PROFF $10,000
FOZ $100|EO%E $2,000
RO $100[ =0T $100
s O $100[EEOK $2,000
s Offi $100]5#O k& et $500
sTOfE $100| Bk E FhECE T $20,000
RO $1,000)F O B $800
MHOEAE $200| 8 EHEPEFA S AR E] $8,000
2O $100[:& Ol & $2,000
BROZ $100|BEOIE $100
PO $100[BROZE $200
BROTE $300[EBOFE T $200
FOH] $100[EOL $200
ROFE $1,200{#O o $200
AHOE $200[EF O $200
FEORM $200[FROFE $1,000
AEOH $200 | O %k $1,000
BROE $1,200[FF Oz $200
HEOER $6,000|ZF O F $100
PO $200[fR Ot $100
MHOE $200[EOFE $1,000
PO $200[ZOxE $3,000
POLT $200|BRO 05 $200
FOH $200[FIOf% $100
MOE $200[BROZ $100
HO1E $200[#ORE $1,000
ZOE $200[O & $200
MHO%E $200[H= O $200
£ 0% $200) O $200
ZOFE $200|FH OFF $1,000
#HO4E $300|FE O $1,000
#OZK $300)|=OE $100
BEO $300|ZF Ok $1,200
BEOE $300[FROEE $200
O | $300[FR O $200
2208 $300[FROFE $100
BEOW $300 R O $100
BOH $300[#F O $200
FOE $300[E O $100
BROME $300|¥ECORA $1,000,000
MHO% $300|f O%E $100
#HOT $100| EOE $200
BEOMR $1.200{EO4= $200
EOH $1,200) %Oty $600
Ok $100[5= O $1,000
ORI $3.000) B O$#, $100
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EROZ $400[FROZ $100
RO $400[BROF* $100
RO $400[7= OF $100
E O] $200[BR O $100
BROII $1,200( PR O $100
SO $3,000{ O $100
BEOH $1,200) B O£ $100
RO $1,200|BROt% $100
HOE $100[EFO% $100
BHOEE $300FH O $100
BOZ= $300[ETO*E $100
EAOR $400[EF O f $100
O $1,000[5FOF $100
O $100|#EOIE $20,000
CAOES $100[ZEO%F $200
FOE $600[ EO& $200
PROZE $600[ EOF $200
SO $400[ 52Ot $400
& O $300[ Ot $400
=OH $100[z= O $600
BROE $200fR O1& $1.000
RO $200|BROHlI % $2,000
PROZE $100|E= O $400
BROE $100|2 O $1,000
FOM $400[fT O 4 $500
BROE $200[ZRO % $300
MO $200[FR O $1,000
HOWS $100[BR O $500
HOH $600[z= OF} $20,000
i OF $200[#FO%j $1.000
SO $200|1F O $1,000
BIOE $500|&£O EEREIZ $600
PRO= $500[2£OF% $500
oy e g =l LE/ANG $8.,000|ZF O $100
AEOE $500[FO1a $100
EAOLEES $100|HFOZE $100
HOR $100|FFO1= $100
fiti OF $100[ER O $100
PrOtet $100ta O $100
w3 $100[3EO= $100
s O $100[BIOF $1.000
HEOFES $500[5OFE $500
fi OIE $100|122OFk $200
fifi O $100| EOAEHD $500
LO= $100[5 Ok $1.000
O $100[ 2O $500
g Ot $100[= O $500
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O $100|FOZK $500
2OZ $100|77 $2 SR A IR /A H] $500
FOZ $100[ZFO1= $200
RO $100|HOL= $5,000
w= O $100PTOZE $5,000
s Offi $100[EBOHES $400
sTOfE $100[21OF5 $400
O $300[#O%E $100
PO $100| &k Ot $1,000
O $200[E= O $2,000
HOE $100[21 Ot $1,000
MO $100[&k O’ $1,000
MO $1,000|/H O $2,000
RO $1,000|EO%z $1,000
HO $1.,200|1#E O3 $2,000
BOR $1.200) ¥ O%E $1,000
BOIE $1.200[=O*% $200
BO% $1.200PTOETE £ $200
BOBE $1,200[ £O $500
§TO T $1.200{ EO= $500
FEORR $1,200)FF OHE $100
FOE $1.200({FFOF $100
RO $1,200|1FOF $100
BHOZE $1,200{ZIOFE $200
A Ot $1,200)F Ok $100
HOJg $1,200|#OIIH $500
=OA6 $1,200(PE O $1,200
SON $1.200({FO =/ $100
BO% $1.800|EE O $2,000
ROF $1,800[%=0 $1,100
BO%R $1.200[FHOE $500
2O $1.200{FH O $600
ORIk $200[BR O $600
PO $1,000) = O $600
ROZE $500[EXO%H $600
HOHFES $500| = O54 $600
BO $1.000)47 O $500
BRO1E $1,000[&F O $600
OB $100[BROZE $600
O $400[FROZ= $600
FOF $1,000|BE O3 $600
OB $5.000)5O== $600
SO $100|AO%E $600
B Ofiig $1,000] B O $600
s O $300[AROFE $600
PREhECE $20,000| A& O%Hii $600
BROE $150|AOHi $600
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TOHk $150[FE O $600
PROZE $150[BROME $600
BROZ $150]BRO TAE $600
FO1E $1,000)FE Ok $600
=0O%+ $100[FR OB $600
=0O% T $480 |5 O /& et $500
g Ot $1.000| B 2ot $20,000
BIOF $1,000[ZIOF $600
HEOHE $300[FIOZ R $600
FEO%m $300[FIOfF= $600
#HOHE $300| 21O $600
BEOKE $1,000|21O& $600
UNOLS $1.000[FEORF $600
#ROFE $1,200{ 21O $600
HOHE $1,200FE=O 1 $600
BROZE $600[FEOfZ $600
AEO4 $2,000|FOE $600
HO $10,000|21O%4 $600
BROZE $100[##OHE $500
BRO% $1.200|E=OF $5.000
BRO$ $100[ T O% $600
B0 $100[ T Ot $400
O $1007& O 7t $300
ZOtE $100|# OF $1,000
MO $100[EROF53E $500
2O $100|#H#HOFEIE $100
BROE: $100[#FOF= $200
FOF $100/fOF $100
BROF $100[ 50O $200
O $100[#BOHE $200
PRO®E: $100[FEOFA $100
BROBE $100[EEOZ $100
TOH $100[ARO & $100
BROkE $100[ERO%K $1,000
RO $100| EOH $500
s O $100[FHO% $200
BROZ $100[FLOH $100
sTOE $100 TOZEHE $1,000
sTO = $100[FOE $300
irOF $100[FFOF( $100
PR O’ $1.200{RKO¥% $100
HOE $1,200) KO8l $100
HO4E $1,200| R OF $100
HOZ% $1,200)#k O $100
BROB $1,200| O $100
O $1.200{ZFO%K $300
#FORRH $600[#ROF* $100
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Z0F $500) K OFE $100
SO $500[#k O $100
FR OB $600[ 2O $100
BEO $600[7RO= $100
EHOH $600|fH O%H $100
£O= $600 &k OFRE $1,200
FHOPTE $600[FEOZ& $100
=0O% T $100[HO% $6,000
BIOF $400[HOF $6,000
PO $2,000[#OFk $6.000
FO¥E $600| RO AL $480
BROBRR $300[BROFE $500
RO $600[HO=E $1,000
FOH $600| FOE $1,000
HO4F $300| EO% $1,000
£0MH $1,250|ZFOFFAE $1,200
BROBK $1,250| =05+ $285
£01E $1,250| PO $800
£0= $1,250[ O E $800
GO $250 (ROt $800
BROTE $300[#FO17 $480
O $500[f7O H $480
TOAIED $500[#OfE $480
BROX $100[#O1a $480
RO $1.000[2£0 %= $300
BIOF $100[#FO%& $300
BIO%E $100|2E2 O $300
BIOF $100[Z£OFE $300
EROL $600|#O4= $650
SOt $1.200[EOZK $650
HOFE $600|EECO $700
HOH $100[E O $500
M OZA $1,200|8E O E $500
FOH $2,315|22 OB $500
=50 $500[t% O $500
MHO4H $500[#OH $500
§TOF $5.000) 5= O%E $500
OGN $1,200| RO $500
TOF $125 |1 O%% $500
O $125[FOHk $1,200
+0O¥% $125|HEO%H $1,200
BOE $125|5ROF $1,200
FEOH $600[ RO $48,000
ROE $300 &k O#F $6,000
PO#HE $300 & O $500
O et $500| E O $1,000
FO $50| FEO& $1,000
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=0 $1,100| FOFF $1,000
HOTE $500#H OFE #HD $2,661
O $1,000|#aHE EUPEBH 2 A PR/ ] $8,000
FHOE $300[=OH $300
O $300[Z OIEl $400
SEPOER $3,140(#O X $400
=0+ $1.200[=O%E $400
BROZ $1,200|F O $400
HEOHE $1.200[ZFOfE $400
i Ok $1,200)B0O T $1,200
5O $1,200|BBOECFE) $1,200
=0O%F $30,000[EEO=E $1,200
O£ $1.200{5 ORE $1,200
TO& $1.200/ O $1,200
MHOIE $20,000|EEOE $1,200
MOH $1.200) ¥ O%E $1,200
A O3k $1.200[EEO%E $1,200
i OF $1.200/ O $1,200
s OfE $1.200[EEO%E $1,200
IO $1.200[EEO%E $1,200
O $100[EEOE $1,200
BROLE $1.200/ O $1,200
H O $1.200[EEO%E $1,200
EZOX $500[EEOE $1,200
BROIE $100[EEOE $1,200
BROZR $200[m=O%E $1,200
E=ORY $5,000[F=OH $1,200
HOFET $200| 5 O $1,200
HOL $200[EOL $1,200
LHOLS $200[E2 O $1,200
HOE $200[ 5= O $1,200
EEORBED $1,200)BEO $1,200
g O% $300|2IOE T $1,200
GO $300)FO1E $1,200
ROSHE $800[/FEOLEH $1,200
BRO3 $1.200/EOF $1,200
FOFFE $100|%2OF $1,200
BROSE $100|%= O $1,200
BROXEG $200[ 5= OfKX $1,200
FRO®E $5.000) ¥ O $1,200
21Ot $100[FEOE $1,200
BROZZ $100|ROF5 $1,200
O $5.000) ¥ Ol $1,200
g O¥ $300|F ORE $1,200
g O $300[FR O $1,200
g O $300[FROH $1,200
gOE! $300[ERO1E $100
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g Ofgt $300[FR O $11,000
=0O% T $5.000|EOFT $2,200
MHO& $600[EFOL $2,200
HORY $300[EFOH1 $2,200
O 1% $1.000|Z Ot $200
JTOx $600[F O $1,100
T O# $400 | Ot $1,100
BEOZEAL $1.200|121O% $1,100
BIOZR $200[BROZ $1,100
RO T $300[F=O & $1,100
FROAL $600| PO E $2,200
w=OE $300[EOS $1,100
HOH $300[z2 Ok $500
EROZ $200[ EOE $100
PROZ $200| EO4 $100
RO $200[FOHk $1,200
A OFe $1.000{FrOF& $1,000
HOWEIE $100[EOFE $1.000
PO $200[BROZK $500
RO $100[EBOHES $300
O $500[#ORE $1.000
sTO4 $1.200) ¥ O $100
HOZ $500[Z OFlL $500
70 $200|21Ofa7 B $600
Ot $200[FZ O1& $500
FEOM $100[ & OHEEL $250
EZO% $100[ZOss $500
BOZ $100|52O%% $500
HO# $500|E= O $600
PO $100[m=Of& $600
FOH: $300|#EOIE $20,000
ROk $1,000|FHORK $600
BROE $200|ROFEE $600
PRO= $200| IR OE# $2,000
BROE $100[EOFE $1.000
BRO#E $100[ EO& $100
FOH $500| EOH $100
HO® $200[FOAE $1,200
HOHE $100[EO% $500
LOZEEE $1.000|E= 0O $500
O $500[#FOF: $2.000
FOE $300|ROE $600
PROR] $100[;EOHk $200
KOZ $100[zZ O $500
RO $100[Z£O%% $300
POz $300[ZEO%F $300
SOt $300[ Ot $20,000
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PO $300 O $500
O $300[#OoE $500
s OfE $300[FE O $500
=0 $300[tOFE $1,200
=OW $300[tEOF $1,200
O $300[tO $1,200
RO $100|tROZ= $1,200
EOxE $500[#R O $1,200
O $500|HOF $1,200
MO $200]H O 5 $1,200
HOS $100[ERO I $500
WOZ $100[FR O $100
FOK $300[#E O $100
POF $100|E= Ol $1,200
HOHE $100|H O $1,200
HOA $100| L MhFodEt $20,000
RO¥ $100|ZENEZ $1,200
RO $100| £ Mt $1,200
EORE $3,000|% SCHE $1,200
HEORE $1,000{%257 $1,200
PROZH $100) 5225 $1,200
HOEL $300| & A $1,200
BROFEGR $500[/ L= 2 $1,200
PO $500[ TF5 4% $1,200
BOR $160[ LEUEE $1,200
EO= $200[ T $1,200
PROZK $200|#kStiEE $1,200
= OFERL $200[) L& IE $1,200
MHO% $200 [ O $500
BOFE $160[ & OB $100
HOFE $160[ O E $100
H OB $160[ ORI $100
BOE $160[#E Ot $100
POIX $200[=OL $100
AO%E $600[ = OKE $100
BROBE $600[HO=F=2 $500
= O $600[HEOIE $100
EXO%H $600[ L $100
= O5h $600[40O= $100
O $600|58O $100
PROZE $600[ & O $100
BROZ= $600[ 4 O&L $100
BROw $600[ 4 OF $100
BOFE $600[H=OZ% $100
RO $600[FROF $100
BROE $600[=O#h $100
ROEE $600[ET O $100
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FEOH $600[EF O $100
FEOH $600| PO $100
O $600[EFOEE $100
BEOHE $600[ RO ZE $100
PEOEAE $600[FROIE $100
EOB $600 (RO $600
BRORE $600| R OBk $200
SOk $200|EF O $1,000
HOE $10,000|BER Ol $2.,400
BORE, $1,000{EFOHE $100
BOF $500| 2O = $100
=OE $2,000( B O ¥ $100
BOHF $1,000{fEO KA $200
HOME $1,000|B10O% $100
SO $100|FEOZ# $100
E£OF $600[ZBOH] $100
=OEE $700{FFOF $100
BORE $1,000|EF Otk $100
BORE $1,000{fO == $500
= O $700|2OE $100
=OME $700| PO <28 $100
RO $700[FROEE $200
= O $700(BEO{ $200
PR O JHN $600[FROE $100
RO $600| B O $100
BHOIE $600|§E O] $200
BROS $600[s5 Ok $1,200
BRO4E $600[Z= O $1,200
=OHEL $700[Z= O $1,200
BO% $300|ZF0O% $1,200
O] $300[5ROF $1,200
O] $300(EF O $100
22O $300[FR O $1,000
—O%BF $3,600[EO $2.400
BOHF $1,000({BE O%% $2.400
BOH $1,000 | ZE &l $1,200
FOE $1,000 [/ )35 $1,200
MO $1,000|f#6T $2,126
EO+ $1,000[ 528 $1,200
FO1E $1,200|FEH2EE $1,200
SO $300| 28 5 35t $1,200
BORE $100|FREE $1,200
BOHEE $100|FRHE $1,200
ROE $800| 2221 $1,200
BHO# $2,000 7R 25 EE $1,200
BROE $150(ZiEE A $1,200
FEOHk $150|$E K 3E $1,200
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BROZE $150| =5 $1,200
BROZ $150) ] fi $1,200
HOZHE $1,000| =2 $1,200
TOE $1,000| ZHE $1,200
EO&% $1,000) 38 5 5% $1,200
g Ot $1.000{HROEK $200,000
FROBL $600[ZFO{ $200
KOF $1,200|8 O $100,000
T O $1,000{ZIOF5 $600
+O& $1.000[HEO = $100
O $1,000) & O $600
#OH $500[BEOH $500
FROHE $600|E=ORE $1,000
HOJE $600[ T OtH $600
HO= $600[= O $600
MO# $600[EE O $600
MO $600[ 5= OHk $500
O] $600[EOL $500
E(OLA $600[ROEL $5,000
w=OR $600[7=OFF $5,000
EOW $600[Z&HE=F $3.000
O $600[FEORK $300
BROSR $600[FRO%E $100
BROE, $600[EHO e $300
205 $600[BBOFl $300
BOZE $100,000]Z= Ol $400
BROTE $1.000[EE O $1,200
Oz $1,000{FOE $100
SO $500| EO4 $100
=0O%F $100|ZFO== $100,000
BIOF $500[FRO#t $100
2014 $1,250|FEO%x $1,000
BROEK $1,250|ZF O $100
£01E $1.250|1ZOt& $100
ZOHE $1,250|EfO%E $100
4 O, $250|FO1= $100
+O&F $1,200|E O $100
FROH $500[FR O $100
RO& $1.000/t50 & $100,000
E O3 $100ta O $100
TON $1,000)1#EO38 $2,000
ROZE $1.000{#50O H 5% $10,000
PRE fh ot $20,000/Z£0O $400
ZIOR $1.000{z0%= $400
O $200|ZO% $400
£0% $500[HEOHT $400
Oz $300[HO= $400
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TO®E $300[z=0O1% $400
w= Ol $400|FLOFE $400
O $500[2=OF% $400
RO $300[HEO=E $400
RO $1.000[3£0 $400
#O g L $500[# O $300
= Of $100,000(FROF* $100
HRO3a} $25[7R O $100
WOZE $25|FR O $100
HROZ $25|BR O $100
g O $25| EOH $100
FORL $1,350) B OFE $100
TOE $200[FROfZ $100
TO%& $200[EFOi% $100
O $200f O $100
TOF $200[5T O $100
FOZE $500[EFO f, $100
BEOjw $500[5TOZE $100
HOFE $600[ EOAHD $500
12 Ol $1,200)| EO# $100
BHOJE $1,200[ O $100
T O $1,200[=O% $300
BO# $1,200|B8O%E $300
BOK $1,200| OBk $1,200
BEOE $1,200) 5O $6,000
ROX $1,500| B O% $1,200
(EIOES $1,500{#5 O $1,200
ZIO/ $1.200H:-O%F $1,200
=077 $1,200| £O%F $1,200
210 $1.200 O $1,200
210 $1.200[FRO= $1,200
O $5.000)E OF $1,200
HOE $5.000 [ O1# $1,200
TOZE $5.000HOFF $1,200
O $3,000| 5O $500
BOF $1.000{5 O $1,000
RO $1,000) 52 Ofa $600
HOE $900| RO $300
BRO-F $900[ 52O $600
BROE $500[ = O $600
PROBH $100|A O $600
#FORBZR $600[FIOL $600
BO $1,000[#5O= $600
O $100|5=OJH $600
sTOH $1,550|FO% $600
BPOE $1.550|FO % $600
AHEOE $500[ZBOHE $600




MEEANSETRAIDFEHEENESE

OBEEARRK S
241 i E S X it i L
BROZE $100[&k O1E $600
EAOLEES $100[fROEE $600
ZOR $100[HFO - $600
fi OF $100|ZOE $600
HHORE $11,208|FO% $300
TO= $2.400[# O $300
MO $100|58 OfH $1,200
=OX $100|E=O= $1,200
s O $100[FROF] $200
AEOFE $500[=OF $5,000
fiE OIF $100[ T O% $600
fitt O=L $100[ T O#h $400
LO= $100[BO%x $200
O $100|2IOF $1,000
g O $100]7% O F e $300
O $100|E=0O7K $2,000
qOE $100|# OFs $1,000
FOZH $100[ROF53E $500
FRO®E $100|# O $100
e O $100[f O $100
s Offi $100[ 50O $200
sTOfE $100[#BOHE $200
BRO$ $100| EO % $500
PO $100[FEOFA $100
BROE: $100[#RO & $100
—0O% T $174|ERO%K $1,000
=0%F $21,165 |15 O $100
& O $1.000[EOH $500
BROF $100[FHO% $200
O $100[HEOH $100
PRO®E: $100)) TOZEHE $1,000
RO $100[FOE $300
TOH $100[FFOF( $100
PRORE $100[RO% $100
RO $100[AROHIL $100
sFOi% $100[#EO1= $150,000
BROZ $100|ROFE $100
eSO $100[F=OF $125
s O i $100[ O $125
sTO%E $100[ EO¥% $125
HOE $100[EBOE $125
MO $100[#£OJ $1,000
RO fia $1,000|#k O $100
BOR $400[ EOL $100
PHOHE $400[ZFOZK $300
RO $400[#ROF* $100
£Z0%/% $400[#R O $100
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£ZOH $400[#k O« $100
FOZE $400[ 2O $100
A OFF] $400[7RO=2 $100
OB $400[EEO K $2,000
BOFE $400 | O2H $100
0= $400) =0 $1,100
TOBEE $400[FHOE $500
A OHR $400[ & O1H $200
FOFE $400[ £O=% $12,000
F O $400[t5 OB, $1,000
O $100[#FO= $1,200
FRO*% $100[EROF $1,200
MO $100|%= O+ $500
HOMR $100[ O $3,000
#Ola $100[BBORK $1,200
O $100[5OZE $500
2O $100[Er O EERAIZ $600
O $100|122OF $500
FOF $100[BR O1& $1,000
PO $2,000{ =0+ $100
ROE $100|E= O $400
O $100[FHOFk $800
Ok $100[fROF $1,000
RO $1.200|2O& $100
BROZ $1,200) B OBE $400
FORK $2,3157ROH $800
GO $1,500)1F O $600
GO $2,000|#EO4F $400
HOZ $1,300( % Ot $1,000
HOZ $2,000)122O%E $100
BO% $1.300PTOETE X $200
BO% $2,000)EEOPK $200
FAOE $1,300[FEOtF $400
FOR $2,000{FH O $1,000
HOE $1,300|FEOIH $1,200
{HORE $2,000[# O $200
ROE $1,300|FRO*E $400
SO $2,000[ & O $600
=OFH $1,000|5E O $1,000
s O $200[7RO%P $3,000
#*O $1,000| POk $1,200
BRO B $600[FORE $2.400
FORE $100[E= O $1.200
FOM $100|E=OHi $1,200
#HOT $100[f2OZ 5k $1,200
BIOZR $200|f OFx $1,200
Ok $100[FRO#h $1,200
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£ZOH $600[ 2O $500
FHOFIE $100[EOZ $100
O $2,000[F2OFK $1,200
%O $1,100[5F O $3.000
HOTE $500[21OF= $1,200
LO%E $500 B Ot $500
FEOIH $500[5O%E $400
BROPFE $500[ O Hk $400
=i fiESC an $20,000| RO $1,000
O $1,000[#O ke et $500
=0O% T $100[zrOH $600
EOK $2,000| O $600
O $5,000{#RO= $600
BROME $1,000{#AO $600
PREhECE $20,000| RO $600
7 ElI ] $9.900|& O T $600
oy e =l LE/ANG $8.000) &= O5A $600
O/ $10,000| 5= O $600
O $10,000{ £ $600
BROIE $100[=OZL $600
BROZR $200EROFP $600
HOFET $200[BRO & $600
HOL $200[21O & $600
LHOLS $200[FIOfS $1,200
Z O $200[f2OF- $1,200
FOFiFE $100|F2 O $1,200
PROSE $100[f2OFH $1,200
BROXEG $200[ EOH $1,200
2O $100[ EO# $100
BROZ $100[F=OM $1,000
EZOX $100[RO%E $1,000
BROE $200| O $500
RO $200[fR OF5 $200
BROE $100[FOZ& $400
BRO#E $100[FO $400
HOE $200| O+ $200
HOWS $100[FE OO $2,650
O $5.000)5O$Y $500
TOXR $600|FHOH $2,000
T O# $400| 2O H $2,500
BROE $300[ =0+ $10,000
/It $3.866,587 /NET $6,711,212

=1 $10,577,799




